Module-12. Transmission & Distribution | grEf#eT Ta faaxoT

Q1. Which electric lines connect the substation to distributors in the distribution system? |
facor yomel & fAcReht & fOT Faeere &l Hisf A faegd ergeT sisdr &2

(A) Feeders | FrsX

(B) Distributors | facate

(C) Service lines | TfaH arsT

(D) Service mains | @fdT AT

answer:A

Q2. What is the name of the insulator used in O.H lines? | 3i1.Td. &gt & 39T fhT AT
aTel Sy ele o &ATH FAT g7

e

=g

(A) Pin insulator | 9T $geleY
(B) Post insulator | 9¥€ $geleY
(C) Strain insulator | E¢eT $geIeT
D) Shackle insulator | el SgeleX

(
answer:D

Q3. What is the insulation resistance between any two conductors in a medium voltage
domestic installation as per |E rules? | IE & foi2@l & HTHR HETH dlecs Be] SECIINT &
fohagl &Y TTeTehT & sl SegelereT HiaRIeY T g7

(A) Infinity | eded

(B) More than one Mega ohm | Teh HITT 311 & 3186

(C) More than two Mega ohms | T & 31f&e #aT 3ea

(D) More than three Mega ohms | ciYel H3IT 3T & 3T

answer:B

Q4. What is the name of a line insulator? | ST+l el & +ATH FAT &
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(A) Pin type insulator | 9T R S=geleT

(B) Disc type insulator | %T-GFWE_H@ET

(C) Shackle type insulator | WWW

(D) Suspension type insulator | e YR so-ac»ia
answer:D

Q5. What is the voltage ratio in the A.C distribution line adopted for domestic consumers? |
B SYSIFAI3T & foIT 379e118 318 A.C TIeR0T of1get & aledsT 3edTd 37 87

(A) 415 V/240V

(B) 240 V/110 V

(C)415Vv/110V

(D) 11 KV/415V

answer:A

Q6. Which is the permissible load for lighting sub circuit in domestic wiring as per IE rules? |
|E fA@t o 3TaR el arReT & 39 Hihe i STl & [ 37AY 7R hist a1 872

(A) 800 W

(B) 1200 W

(C) 2400 W

(D) 3000 W

answer:A

Q7. What is the name of the insulator? | grﬂoaa HI ATH FAT g7

A) Stay insulator | & $HeleX
B) Shackle insulator | ﬂﬁgﬂﬂﬁ
) Suspension insulator| el $crac>1c<

D) Single shed pin insulator | f&3Ter Az e g

answer:D

(
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Q8. What is the type of over head line joint? | 3{TaX 85 SIS+l HYeFcl hl FehX T &2

== ¢

(A) Twisted joint | 73 g s

(B) Straight sleeve | joint | T 3EeT &7 AT

(C) Compression joint for ACSR | ACSR & oIt &geFel ddis=l

(D) Straight joint through connectors | Faaed & HeaE @ A S
answer:C
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Q9. What is the reason for the conductor cross sectional area can fully utilised on
transmission of DC as compared to AC? | &I SRUT &, ST THY &Y Jefell & SIEY & AT W
shSeFed ShIH-HerRleTol &1 &1 I olE H YA Y Hehcll 52

(A) No heat loss | I FH=T g1fa 78T

(B) No skin effect | IS caaT YT oTg

(C) No power loss | 1S 2T &Il Tar

(D) No corona loss | FIs BRI g1t 7T

answer:B

Q10. Why steel is reinforced in ACSR conductors used for overhead lines? | 3d<gs oS+ &
fIT STAATS 8T aTel ACSR &hsareX & TEIS ol FAT YaTeld 1T ST 672

(A) To minimize the line sag| eIT8 {3T BT HFH Fel h I

(B) To reduce the line voltage drop | AlTSsT et 31T &I e del & folT

(C) To increase the tensile strength| d=aIdT §Glel & foIT

(D) To increase the current carrying capacity | ERT dgeT &T#dT &l §61l o folT

answer:C

Q11. Why the disc pin insulators outer surface is made by glazing and bent the sides
inward? | f3%h T Sgelex STl Aelg I TATSIaT SaRT T ST a1 § 3R FoheTRT Y 3ie T
X AT ST T6T 872

(A) To withstand high voltage | 3Td dlec ol &l HTHAT el oh [oIT

(B) Not to attract birds to sit on it | 3 T 81 & ToIT gferdT 1 3TH T T & T 8T

(C) To offer high mechanical strength | 3Ta T3 ATFT TGTeT el o foIT

(D) Disables continuous water flow in rainy season| @sT FJ # AT STef JaTg @l ASHT
EXGINS

answer:D

Q12. Which type of A.C transmission is universally adopted? | fh& 9 T A.C JHROT
AT T & HIATIT SATAT 872

(A) Two phase four wire | & thal IR AR

(B) Two phase three wire | g %af dlel dR

(C) Single phase two wire | f&3Tel %eT gr AR

(D) Three phase three wire | dieT %eT dif AR

answer:D

Q13. Which type of line insulator is used for terminating on a corner post? | e« THTTCT U
It & TEN & TIT TohE JehR & ST Segelc T 3TN FohdT ST 872

(A) Pin insulator | 9T ggelex

(B) Strain insulator | ¥&+T $geIeX

(C) Shackle insulator | ¥ehel $HeleX

(D) Suspension insulator | fese S=gele

answer:C

Q14. What is the advantage of AC power transmission? | AC UfaR SiafHRRIeT T FIT BIIET §7?
(A) Corona loss negligible | YT AT 0T

(B) Stress on transmission lines is minimum | ZRATARIT WSl W delld 7T A &

(C) Low voltage drop in transmission lines | SrEATARIT dTSaT 3 &3 aleest 319
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(D) Voltages can be stepped up and stepped down easily | dlecsT @l T 3T fhaT ST Fehdl
€

answer:D

Q15. What is the reason for keeping binding wire gap too close and very tight in the pin
insulator? | STSTEaT ITAR AT T SET I I HR AT SHeIeT H T TIST Gl T FAT HRUT §7
(A) Avoid sparking | TITRRIT &

(B) Avoid corrosion | &RoT & &

(C) Avoid oxide formation | 3iTFATSS FTal & &

(D) Avoid atmospheric pressure | AIHSIY eelTd & S

answer:A

Q16 What is the name of conductor used on overhead lines? | 31aX&3 olEall T 9
$HSFCI DT oATH FIT g7

(A) ACSR

(B) Aluminium | 3reg#ifaas

(C) Galvanised iron | STET oigT

(D) Hard drawn copper | 3R W= 31 drer

Answer:A >

Q17 What is the main purpose of crossarm used in electric poles? | ﬁmaﬁrﬂwg‘lﬁ
aTel I3 T T 36837 FAT 57

(A) Supporting the line conductors | Wﬁmwwﬁﬁ

(B) Holding the insulators on overhead line | S{-Ioid{ I 3TAXES ST I TGl

(C) Avoids short circuit between conductors | shEarexl & e QiTE afhe & ST SaT &

(D) Reduces conductor sag between supports | GFY & s Shase FRATAIAT T e HIAT &
Answer:B

Q18 Which type of line insulator is used at the dead ends of the H.T overhead lines ? |
T.EY. 3aES olMselr & 535 RNl o) ol TR o TSeT SHoiey T 3TN faalT SireT 87
(A) Pin type insulator | f%T YehR gegelex

(B) Disc type insulator | f3¥ YR gwgelex

(C) Stay insulator | ¥ $HeIeX

(D) Suspension type |nsulator| IGEEGREDL $a-~Holc~{

Answer:B

Q19 What is ACSR stands for? | ACSR T &7 379 g7
(A) Aluminium Core Steel Reinforced

(B) Aluminium Covered Steel Reinforced

(C) Aluminium Conductor Steel Reinforced

(D) All Conductors Steel Reinforced

Answer:C

Q20 What is the purpose of cross-arm in O.H lines? | 31TT AT # hid-3TH FT 3662 FIT
g7

(A) Provide more support to the O.H pole | O.H maﬁmmwﬁ

(B) Protect from short between conductors | et & S oifE & Tae

(C) Reduce the sag of the lines between poles | ¢al o T T I@T31T T FRATAIAT Y FoA HY
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(D) Holding the insulators where the conductors are fastened | Sl @I YehgeIl STgT Hhgael
T ST ST &
Answer:D
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